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 Rita sold 28 toys in a fair. Next day he sold 13 more toys. How many 

toys in all did he sell? 

  

  

  

  

     Rita sold ___________ toys in all. 

 Harsh scored 34 runs in a cricket match and Rocky scored 69. How 

many runs did they make in all? 

  

  

  

  

    They made ___________ runs in all. 

 Sita rabbit can eat 49 carrots in one week. Harshu rabbit can eat 43 

carrots in one week. Who eats more in a week, and by how much? 

  

  

  

  

     ___________ eats _________more carrots. 
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10 1 


